Name:

Sales Tanx

Calculate the total cost of each item if the sales tax is I3 percent.

$5.00 x 013 = $0.65 so Total Cost: $5.00 + $0.65 = $5.65
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Name:

Sales Tere Answer ey

Calculate the total cost of each item if the sales tax is I3 percent.

$5.00 x 013 = $0.65 so Total Cost: $5.00 + $0.65 = $5.65
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$10.00 x 013 = $1.30 so Total Cost: $10.00 + $1.30 = $I.30

&+
&)
o
o

$7.00 x 0.3 = $0.91 so Total Cost: $7.00 + $04I = $74
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! - $1200 x 03 = $1.56 so Total Cost: $12.00 + $1.56 = $I13.56

-
()
(-

Find more info @ moneylifelessons.ca © Money Life Lessons, 2022



